
Complete the sentences.

Adding by counting on (1)

© Primary Stars Education

d First there were 6 doughnuts. Then _____ more were added.

Now there are _____ doughnuts.

a First there were 5 sweets. Then 3 more were added.

Now there are _____ sweets.

b First there were 3 acorns. Then _____ more were added.

Now there are _____ acorns.

c First there were 2 apples. Then _____ more were added.

Now there are _____ apples.

First Then Now

First Then Now

First Then Now

First Then Now



Adding by counting on (1)
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a First there were 6 doughnuts. Then 4 more were added.

Now there are _____ doughnuts. 6 + _____ = _____.

b First there were _____ sweets. Then _____ more were added.

Now there are _____ sweets. _____ + _____ = _____.

c First there were _____ acorns. Then _____ more were added.

Now there are _____ acorns. _____ + _____ = _____.

d First there were _____ apples. Then _____ more were added.

Now there are _____ apples. _____ + _____ = _____.

First Then Now

First Then Now

First Then Now

First Then Now

Complete the sentences.
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Adding by counting on (1)

b First there were _____ sweets. Then _____ more were added.

Now there are _____ sweets. _____ + _____ = _____.

a First there were _____ acorns. Then _____ more were added.

Now there are _____ acorns. _____ + _____ = _____.

c First there were 12 apples. Then 4 more were added. Now there are _____ 

apples. Draw the apples in the now box. _____ + _____ = _____.

First Then Now

First Then Now

First Then Now

d First there were 7 oranges. Then 6 more were added. Now there are _____ 

oranges. Draw the oranges in the correct boxes. _____ + _____ = _____.
First Then Now

Complete the sentences.
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Complete the sentences.

Adding by counting on (1)
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d First there were 6 doughnuts. Then _____ more were added.

Now there are _____ doughnuts.

4

10

a First there were 5 sweets. Then 3 more were added.

Now there are _____ sweets.8

b First there were 3 acorns. Then _____ more were added.

Now there are _____ acorns.

6

9

c First there were 2 apples. Then _____ more were added.

Now there are _____ apples.

5

7

First Then Now

First Then Now

First Then Now

First Then Now
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© Primary Stars Education

a First there were 6 doughnuts. Then 4 more were added.

Now there are _____ doughnuts. 6 + _____ = _____.10

b First there were _____ sweets. Then _____ more were added.

Now there are _____ sweets. _____ + _____ = _____.

8 3

11

c First there were _____ acorns. Then _____ more were added.

Now there are _____ acorns. _____ + _____ = _____.

9 6

15

d First there were _____ apples. Then _____ more were added.

Now there are _____ apples. _____ + _____ = _____.

7 6

13

First Then Now

First Then Now

First Then Now

First Then Now

9 6 15

4 10

8 3 11

7 6 13

Complete the sentences.
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Adding by counting on (1)

b First there were _____ sweets. Then _____ more were added.

Now there are _____ sweets. _____ + _____ = _____.

11 7

18

a First there were _____ acorns. Then _____ more were added.

Now there are _____ acorns. _____ + _____ = _____.

9 5

14

c First there were 12 apples. Then 4 more were added. Now there are _____ 

apples. Draw the apples in the now box. _____ + _____ = _____.

First Then Now

First Then Now

First Then Now

9 5 14

11 7 18

12 4 16

d First there were 7 oranges. Then 6 more were added. Now there are _____ 

oranges. Draw the oranges in the correct boxes. _____ + _____ = _____.7 6 13

Children will draw 7 oranges 
and 6 oranges

beneath the box.

Children will draw 13 
oranges.

Children will draw 7 
oranges.

Children will draw 16 
apples.

First Then Now

16

13

Complete the sentences.
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